
(𝑣𝑙𝑚) 𝑡0 

(1) 𝑟𝑣𝑙𝑛0,1 = 𝑣𝑙𝑚0

𝑟𝑣𝑙𝑛
𝑣𝑙𝑚



(𝑖𝑙%)
(𝑣𝑙𝑚) (𝑣𝑙𝑚%)

(2) {

𝑟𝑣𝑙𝑛1,2 = 𝑙𝑜𝑦𝑐1,2
𝑣𝑙𝑚1 = 𝑣𝑙𝑚0. (1 + 𝑣𝑙𝑚%)

𝑙𝑜𝑦𝑐1,2 =  𝑙𝑜𝑦0,1. (1 + 𝑖𝑙%) = 𝑣𝑙𝑚0. (1 + 𝑖𝑙%)

𝑙𝑜𝑦𝑐

(3) {

𝑟𝑣𝑙𝑛2,3 = 𝑙𝑜𝑦𝑐2,3
𝑣𝑙𝑚2 = 𝑣𝑙𝑚1. (1 + 𝑣𝑙𝑚%) = 𝑣𝑙𝑚0. (1 + 𝑣𝑙𝑚%)

2

𝑙𝑜𝑦𝑐2,3 =  𝑙𝑜𝑦𝑐1,2. (1 + 𝑖𝑙%) = 𝑣𝑙𝑚0. (1 + 𝑖𝑙%)
2

(4) 

{
 
 

 
 𝒔𝒊  𝑣𝑙𝑚3 > 𝑙𝑜𝑦𝑐3,4  𝒂𝒍𝒐𝒓𝒔  𝑟𝑣𝑙𝑛3,4 = 𝑙𝑜𝑦𝑐3,4

𝒔𝒊  𝑣𝑙𝑚3 < 𝑙𝑜𝑦𝑐3,4  𝒂𝒍𝒐𝒓𝒔  𝑟𝑣𝑙𝑛3,4 = 𝑣𝑙𝑚3

𝑣𝑙𝑚3 = 𝑣𝑙𝑚2. (1 + 𝑣𝑙𝑚%) = 𝑣𝑙𝑚0. (1 + 𝑣𝑙𝑚%)
3

𝑙𝑜𝑦𝑐3,4 =  𝑙𝑜𝑦𝑐2,3. (1 + 𝑖𝑙%) = 𝑣𝑙𝑚0. (1 + 𝑖𝑙%)
3



 






